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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- Let's go and get something to drink. We've got --------------- time before the train leaves.
1) little 2) a few 3) a little 4) few
77- That movie was really boring. It was --------------- I've ever seen.
1) more boring than the movie 2) the most boring movie
3) so boring that the movie 4) the more boring movie
78- " Did you take --------------- pictures when you were on vacation?
1) very 2) too 3) much 4) many
79- What was wrong with you? Why ----------————- go to the hospital?
1) did you have to 2) had you to
3) must you 4) might you
80- You have to keep watching to --------------- the milk from boiling over.
1) respect 2) prevent 3) imagine 4) disappear
81- She was very --------------- ; she cried even when her husband left for another city on
business.
1) emotional 2) fluent 3) honest 4) calm
82- As technology advances, it will make things in the --------------- world fall in price.
1) fortunate 2) endangered 3) physical 4) balanced
83- I found there was only one way to look thin: --------------- with fat people.
1) give up 2) put out 3) cut down 4) hang out
84- You can't ---------—----—- the ladder of success with your hands in the pockets.
1) climb 2) exist 3) order 4) seek
85- It's important to protect your skin from the --------------- effects of the sun.
1) absolute 2) simple 3) real 4) harmful
86- Drinking a cup of coffee each morning can lead to a(n) --------------- .
1) explanation 2) addiction 3) attention 4) behavior
87- We need to --------------- up the room for a new carpet.
1) increase 2) donate 3) measure 4) invent

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

What is your favorite type of music? Do you know anything about its (88) ------------- ?
Over the years, (89) --------------- people have moved or traveled, (90) ---------------
with them the music of their cultures—Celtic folk from Ireland and the U.K., flamenco
from Spain, or bhangra from India. As a result, a lot of today's (91) --------------- music
has its roots in the traditional songs and rhythms (92) --------------- in various countries
around the world.

88- 1) order 2) ceremony 3) entertainment 4) history
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89- 1) that 2) such 3) as 4) like
90- 1) they have taken  2) had taken 3) or took 4) and they took
91- 1) generous 2) popular 3) domestic 4) useful
92- 1) hearing 2) heard 3) to hear 4) hear

PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Ang Lee was born in Taiwan, in 1954. He was the eldest of the six children in his
family. When he got a low score on his university entrance exam, he decided to study
acting at an art academy instead. After he finished his courses there, he went to the
U.S. at the age of 23.

Lee carned a bachelor's degree in theater from the University of Illinois, and went
on to study film production at New York University. In his first film job, he worked as
an assistant cameraman on another student's project. The movie he made to earn his
degree at New York University, called Fine Line, won awards for the best film and
best director at his university's film festival in 1984.

Later, after graduating, he tried for five years to get money for his projects, without
success. He spent this time writing screenplays for movies that he wanted to make. In
1990, Lee's screenplays won the first and second prizes in a competition in Taiwan,
and he could finally begin making full-length movies.

Lee's first movies were made in Chinese. Pushing Hands (1992), The Wedding
Banquet (1993), and Eat Drink Man Woman (1994) were very popular across Asia, as
well as in Europe and North America. Many of Lee's best-known movies are about the
conflict between tradition and modern life. Often the story involves a strong father
who causes problems for his children.

93- What is the main topic of the passage?
1) Factors in Lee's success 2) Film production in the U.S.
3) The best-known movies by Lee 4) Lee's life and work

94- Why did Lee decide to study acting?
1) He didn’t want to work as a cameraman.
2) He was interested in acting.
3) He didn't do well on the entrance exam.
4) He wanted to win awards.

95- When did he write screenplays for movies? ‘
1) When he finished his studies. *
2) After he earned money for his projects. B
3) Before he completed a bachelor's degree.
4) When he started to make full-length movies.+
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96-

97-

98-

100-

What are many of Lee's movies related to?

1) Serious disagreements in families

2) Major problems of modern life

3) Old traditions in Taiwan

4) The strong relationship between fathers and children

PASSAGE 2:
Remember that a tourist will attract a lot of attention from people. While most of the
local people you meet will be friendly and welcoming, there are always dangers for
travelers. Theft is the most common of these dangers. L.eave expensive cameras and
valuable jewelry at home. If you prefer to stay in cheap hotels while traveling, make
sure you can lock the door of your room from inside. If you must travel with a lot of
cash or other valuables, you should ask your hotel about a safe for storing them in.
And just as in your home country, do not expect everyone you meet to be honest.

When you get to your destination, use official transportation. Always go to bus or
taxi stands; don't accept rides from strangers who offer you a ride. If there is no meter
in the taxi, agree on a price before starting out. Always carry a city map with you so
you can find your way if you get lost.

If you have trouble communicating, look for students and young people who might
speak a foreign language. And finally, remember to smile. It's the friendliest and most
sincere form of communication, and is sure to be understood in any part of the world.

What does the author mainly discuss?

1) Why official transportation is better

2) Why local people are friendly to travelers

3) How to travel safely

4) How to communicate in a foreign language )

Which of the following best describes the function of the underlined sentence in
paragraph 1?

1) It gives a reason for a problem described in the preceding sentence.

2) It supports an earlier statement by giving an example.

3) It describes one of the effects of theft.

4) It makes an exception to a point discussed later in the passage.

The word "storing' in paragraph 1 is closest in meaning to --------------- .

1) paying 2) saving 3) developing 4) preparing

Which of the following statements about tourists is NOT supported by the information
in the passage? ‘

1) They must be able to take the right direction.

2) They mustn't completely trust foreigners.

3) They mustn't carry expensive stuff around.

4) They mustn't offer a ride to strangers.
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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

101- Societies must have some organized way of teaching new members --------------- and how
they should behave.
1) of whom it is expected 2) what is expected of them
3) how they should expect 4) that they are expected
102- We have created an atmosphere around the earth --------—--—— , like a giant glass
container, lets heat from the sun through and holds it inside.
1)as 2) which is 3) that 4) then
103- Research suggests Stonehenge ---------—---—- designed by an ancient religious group
around 1500 B.C.
1) may have been  2) might have 3) should have been 4) could have
104- Although ---------mmmn-- across cultures, marriage is an institution in almost every culture,
and most people do get married.
1) there is various ~ 2) variation is 3) to be varied 4) there is variation
105- The athlete's view, full of movement, requires rapid scanning ---------—-—-—-- changing
rapidly among various distances.
1) with visual focus 2) so visual focus
3) of focusing on visual 4) as focused visual
106- The scientific and technological advances began with electricity, -------------- the greatest
minds of the age.
1) which was attracting the study of 2) was the study which attracted
3) the study of which was attracting 4) the study whose attraction since
107- Studies of people --------------- stressful situations showed that those with stress-resistant
personalities experience fewer physical illnesses.
1) faced 2) facing 3) to face 4) face
108- Rivers --------------- the equivalent of today's motorways, in that they were extensively
used for transportation.
1) used to 2) were used for
3) were used to being 4) used to be
109- To make the axes, sources of suitable stone had to be found -------=—=-———- exploited.
1) for systematically 2) or systematize
3) because their systematic 4) and systematically
110- We don't need all day for the museum. I expect we -----—----———-- enough by lunch time.
1) 'll have seen 2) have seen 3) 'll be seen 4) be seeing

PART B: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

111- It is likely that the Coen brothers' latest movie, ------------—-- scheduled to be released in
time for Thanksgiving, will be postponed until summer because of unforeseen
postproduction difficulties.

1) artificially 2) originally 3) sufficiently 4) considerably

112- The Americans sometimes find it difficult to accept the more formal Japanese manners.
They prefer to be casual and more informal as ------------—-- by the universal 'Have a nice
day!

1) explored 2) struggled 3) illustrated 4) immunized

113- Ordinary people who know nothing about psychology can predict the results of
psychological experiments with reasonable accuracy on the basis of their own -------------
sense.

1) powerful 2) great 3) common 4) smooth
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114- It is a tragic --------------- that the very qualities which have led to man's extraordinary
success are also those most likely to destroy him.
1) profession 2) paradox 3) involvement 4) emotion

115- Mohadzir grew up amid --------------- , which poorly prepared him for his graduate
student days in crowded apartments with no servants.
1) affluence 2) occasion 3) incident 4) performance

116- Because it does not have a blood supply, the --------------- takes its oxygen directly from
the air.
1) issue 2) forecast 3) operation 4) cornea

117- According to experts, people who get lost when they are out hiking typically keep
walking (or even running), -------~------- trying to find the right path to safety.
1) economically 2) previously 3) desperately 4) thoroughly

118- Companies ------------- -- the production of goods as well as service jobs. My brother lost
his job making tires when his company moved jobs to Bangladesh.

- 1) outsource 2) outline 3) outplay 4) outnumber

119- His action in cheating poor, sick and elderly people of their savings was described by the
judge as --------------- .
1) infamous 2) unknown 3) innocent 4) unimpaired

120- Traveling to all corners of the world gets easier and easier. We live in a(n) ~--------------
village, but how well do we know and understand each other?

1) hectic 2) global 3) dominant 4) official

121- In response to fears about the flood of newcomers, Congress --------------- a law to limit
immigration. It allowed only immigrants who could read and write.
1) inspired 2) caused 3) arranged 4) passed

122- I was given tablets to help clear up the rash on my arms, but they only --------------- the
condition.
1) pursued 2) provided 3) aggravated 4) endeavored

123- Communicating with other homeschooling families --------------- to exchange ideas and
discuss problems is an important source of support for many homeschoolers.
1) significantly 2) periodically 3) relatively 4) virtually

124- For one person, being called on to give a talk in front of a class is a highly stressful
----------- that will immediately produce such elements as a pounding heart and a dry mouth.
1) transformation  2) debate 3) approach 4) stimulus

125- Before you go river rafting, you sign a document releasing the trip leaders from ----------
in case of injury.

1) liability 2) allocation 3) resolution 4) capability

PART C: Sentence Structure

Directions: Choose the sentence with the best order for each of the following series. Then
mark the correct choice on your answer sheet.

126-
1) He not only gave everyone gifts nor he invited them to a dinner party.
2) Not only did he give everyone gifts but also did he invite them to a dinner party.
3) Not only did he give everyone gifts but he invited them to a dinner party also.
4) Not only he gave everyone gifts, but he invited them to a dinner party also.
127-
1) After writing a song, music arrangers who make it more appealing with deciding
which instruments so as to use.
2) After a song has been written, music arrangers make it more appealing by deciding
which instruments will be used.
3) Although a song has written, music arrangers make it more appealing because they
decide which instruments they should use.
4) Since a song is written, music arrangers decide which instruments to use that they
make it more appealing.
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128-

129-

130-

1) When finished this course, will you be able and read textbooks in German?

2) When you've finished this course, will you able to read textbooks in German?
3) Will you be able that read textbooks in German until finishing this course?

4) Will you be able to read textbooks in German when you've finished this course?

1) It is interesting that people over the age of 65 experience fewer mental health

disorders.
2) Interestingly, people over the age of 65 have fewer experiences of mental disorders

of health.
3) Interestingly, people who aged over 65 experience fewer mental disorders that are

about health.
4) It is interesting that people aged over 65 have experiences that fewer mental health

disorders.

1) To run a school, it reciuires a great deal of money and a large number of dedicated

people.
2) It requires a great deal of money and a large number of dedicated people to run a

school.
3) It requires a large number of money and a great deal of dedicated people to run a

school.
4) A great deal of money and a large number of dedicated people require to run a

school.

PART D: Language Functions

Directions: Read the Jollowing conversations between two people and answer the questions

about the conversations by choosing one of the choices (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

131-
132-

133-

134-

135-

A: In your opinion, what's the best way for us to kmow if we really have a(n)

() T — to art?

B: Well, those of you who are interested in art as a career should talk with arts
professionals, or work in the arts yourselves. Professionals can (132) ---meoemeeeeee , but
experience is the best way to get a feel for the field.

1) meaning 2) calling 3) understanding 4) passing

1) get on really well 2) make a name for themselves

3) give good firsthand advice 4) find it extremely comforting

A: This is a lovely apartment.

B: Maybe, but we're paying ([ IR ) T — for it.

1) through the nose 2) with open arms

3) near the bone 4) above our head

A: Has all the chaos subsided at home?

B: Yes, we're back (134) —-—-eeeeeo - again.

1) on the air 2) at the drop of a hat

3) in the same boat 4) on an even keel

A: Why is Dad shouting at everyone today?

B: Don't worry. He's just [ ) [ ———— ’

1) sitting on the fence 2) pulling strings
3) making a change 4) letting off steam
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A: We had a terrible time.
B: Oh, (136) -----------———- .
136- 1) mark my words 2) spare me the details
3) cut me dead 4) suit yourself
A: Donna wasn't very nice to me.
B: Don't (137) -==-m-emmmemm - . She's just in a bad mood.
137- 1) keep an eye on it 2) make a fortune
3) take it personally 4) pull yourself together
A: I think I'll take my mother to that French restaurant on Main Street for her birthday.
B: I hope (138) --------—--:——-, They're usually booked up weeks in advance.
138- 1) it's not any time soon 2) you can afford it
3) it's not getting worse now 4) your mother is OK
A: Have you (139) -—----mome- the news to the family yet?
B: Well, I've been (140) ------———-——- with most of them, but I can't get hold of Uncle Nick.
139- 1) awaited 2) caught 3) broken 4) held
140- 1) on call 2) in the flesh 3) on the house 4) in touch

|| PART E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

141-
142-
143-
144-
145-
146-

147-

Millions of the Christmas, anniversary and birthday presents that we select so carefully
each year are dismissed, disdained and returned. At the same time, unkind thoughts

occur (141) ---mmemmemmeeee chose the gift. What really matters is not the gift itself,
but the (142) -—-mmemmemee—- . Recipients evaluate the gift and place it in a category:
QT K ) e — affirming an already good relationship to contributing the last straw
to a teetering one. What we all want, (144) ------meemmevv , 1S an affirming present:

something that signals that the other person knows what our wants (TR I — .
An affirming present does not have to be expensive or personal, just something that
proves (146) -----aemeeeeemv . A close marriage or friendship is most likely to produce
these kinds of gifts, (147) --------memmme- that are already strong, a poor choice does not
normally cause serious (148) ---------eeme- . In relationships that are good, a present
QL e — strengthening when it takes things (150) ---mmmomeemoo- . An
engagement ring is the classic example, but it could be anything that symbolizes
greater (151) --mmmmeeememev and understanding. Many gifts have no real impact
(152) -—emmmmme - way. This is often the case with family members, for example, a
sister who gives bath oil to a sibling who always has showers. Nobody says anything
because it is not worth a scene (153) -----mmmmeme-- . A weakening present is one that
damages the relationship. It signals the giver was going through the motions or, worse
still, (154) ---mmmmmemem- the recipient. An example of this is the husband who gives a
vacuum cleaner (155) ----------—--—- . The severing gift is the last, ugly proof that things
have reached the point of no return.

1) about whoever  2) for whomever 3) that who 4) since who

1) optimism 2) symbolism 3) racism 4) feminism

1) with 2) like 3) in 4) from

1) in addition 2) for example 3) of course 4) finally

1) and needs are 2) are and our needs 3) or needs 4) are in need of
1) the giver would have paid attention 2) the giver was paying attention

3) paying attention gives 4) paying attention of the giver

1) relationships on the other hand 2) even if relationships

3) although in relationships 4) in relationships such
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148-
149-
150-
151-
152-
153-

154-
155-

156-

157-
158-

159-

PART F: Reading Comprehension
| Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on Your answer sheet.

1) links 2) factors 3) patterns 4) rifts

1) considering 2) to consider 3) is considered 4) considers

1) next to the level  2) to the next level 3) at the level next  4) until the next level
1) commitment 2) emphasis 3) justification 4) input

1) both 2) only 3) neither 4) either

1) hurts feelings 2) and feelings hurt

3) or hurting feelings 4) but it hurts feelings

1) derives 2) insults 3) projects 4) imposes

1) because an anniversary which romantic 2) when such a romantic anniversary

3) on a romantic anniversary 4) on the anniversary of romantic

PASSAGE 1:

People tell us lies every single day. Some of these lies are white lies, told to protect
our social dignity or to keep a secret that needs to be kept. But others are more
dangerous and can cause serious problems. According to Pamela Meyer in her best-
selling book Liespotters, most of us only realize that someone is lying to us 54 % of
the time. In her book, Ms. Meyer explains the patterns used to recognize deception by
liespotters like herself.

Ms. Meyer starts by disproving some of the myths about liars and their body
language. For example, most people believe that liars tend to move around and fidget a
lot when they are not telling the truth. In fact, people tend to freeze their upper bodies
when they are lying, she says. Another misconception is that liars will not look a
person in the eye. According to Ms. Meyer, they maintain eye contact a little too much
because they have already heard about the myth. In general, liars are very good actors,
but one thing that can give them away is their smile.

In her book, Ms. Meyer explains how it is possible to detect a fake smile. Smiling is
a conscious action, she says, and anybody can do it just by contracting the muscles in
their cheeks. The secret to a real smile lies in the eyes. We have some lines at the outer
corner of our eyes called crow's feet, which appear when we give a genuine smile. It is
impossible to consciously contract the muscles around the eyes to produce these lines.
This means that a smile that doesn't reach the eyes is not real.

What is the author's main purpose in the passage?

1) To explain the consequences of lying

2) To support some common myths about liars

3) To classify lies into two main groups

4) To give readers some tips on spotting liars

The word "dignity" in paragraph 1 is closest in meaning to --------------- ,
1) advancement 2) respect 3) life 4) conscience
Meyer holds the idea that people who are T — .

1) are incapable of giving a genuine smile

2) cannot maintain eye contact

3) cannot keep still

4) are incapable of contracting cheek muscles

Which of the following questions is NOT answered in the passage?

1) Why do people tell white lies?

2) What are crow's feet?

3) What do people obtain by deception?

4) Who can liars be compared to?
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161-

162-

163-

The author has used all of the following methods of idea development in the passage
EXCEPT -~ .

1) process analysis 2) definition
3) exemplification 4) cause-effect relationship
PASSAGE 2:

Superstitions are beliefs that some things can't be explained by reason and that there
are certain objects or actions that bring good or bad luck. Most superstitions are old
and people usually have no idea where they came from. We may be told, for example,
that we should never open an umbrella indoors because that will bring bad luck. We
aren't told why or what kind of bad thing might happen to us, but few of us are going
to try to find out. We just don't open one until we are outside.

Everyone knows that thirteen is an unlucky number. Other things that can bring bad
luck include breaking a mirror, walking under a ladder or spilling salt. At least when
you spill salt, you can avoid the bad luck by immediately throwing some of the salt
over your left shoulder with your right hand. Unfortunately, the man sitting behind you
at that moment will suddenly get a shower of salt all over him. Obviously, he must
have done something earlier that brought him bad luck. Perhaps he had opened an
umbrella indoors.

If you ask people why it is bad luck to walk under a ladder, they usually say that it's
because something might fall on your head. [A] It could be a hammer, a brick, a piece
of wood, paint or water. [B] It is interesting that the superstition is explained in terms
of such ordinary things. [C] According to the Oxford Guide to British and American
Culture, 'this idea may have developed out of the practice in medieval times of
hanging criminals from ladders'. [D] That explanation makes the superstition much
easier to understand.

More confusing are those superstitions that seem to have different meanings for
different people. Some people will tell you that it is bad luck if a black cat walks in
front of you. Others will say that seeing a black cat is supposed to be lucky. Other
tokens of good luck are a rabbit's foot, a special coin, a four-leaf clover and a
horseshoe. If you hang the horseshoe over your front door to bring luck to your house,
you must be careful to have the open end pointing upwards. If you hang it the other
way, your good luck will just drop out through the gap. You can also wish for good
luck by crossing your fingers. You don't have to cross all of them, only the middle
finger over the index finger. With your fingers like this, however, it may be hard to
nail that horseshoe over your door.

Which of the following best describes the organization of the passage?

1) An interesting topic is introduced and ideas for or against it are stated.

2) A number of superstitions are listed and then the stories behind them are shared.

3) A common misconception is introduced and then corrected by the incoming information.
4) A particular concept is defined and then some examples of it are provided.

The letters [A], [B], [C] and [D] in paragraph 3 indicate where the following sentence
can be added. Where would the sentence best fit?

""The origin of the superstition is much darker and more scary."

1) [A] 2) [B] 3)[C] 4) [D]

Which of the following best describes the function of the underlined sentence in
paragraph 4?

1) It supports an argument discussed later in the paragraph.

2) It points out that many superstitions are difficult to understand.

3) It presents an idea contrary to the one explained in the preceding sentence.

4) It challenges a widely held belief described in the preceding sentence.
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164-

165-

According to the passage, all of the following are considered unlucky EXCEPT ------nem-- .

1) opening an umbrella in an enclosed space

2) smashing a mirror

3) spilling salt over your left shoulder

4) hanging a horseshoe with its gap pointing downwards

In which of the following sentences does the author use humor?

1) With your fingers like this, however, it may be hard to nail that horseshoe over your door.

2) Most superstitions are old and people usually have no idea where they came from.

3) You don't have to cross all of them, only the middle finger over the index finger.

4) Other flokens of good luck are a rabbit’s foot, a special coin, a four-leaf clover and a
horseshoe.

PASSAGE 3:

Whereas some jobs may make heavier psychological demands than others, certain
sorts of people, regardless of their occupation, seem to make heavy psychological
demands on themselves — and, as a result, run a greater risk of heart disease. People
with a particular personality style, called the coronary-prone behavior pattern and
commonly labeled Type A, have been found to be especially susceptible to heart
disease. Type A people are hard-driving, competitive, and aggressive. They experience
great time urgency, always trying to do more and more in less and less time. People
who have an opposite sort of personality are termed Type B. Others are categorized
somewhere in between.

Many studies have confirmed that Type A people are more susceptible to heart
disease than Type B people. One probable reason is that Type A people tend to make
greater demands on themselves and to expose themselves to more stressful situations
than do Type B people. One study of college football players found, for example, that
Type A players were rated by their coaches as playing harder than Type B players when
they were injured. Type A people also tend to have an unusually intense physiological
reaction to the stress that they encounter. When they are faced with a challenging
situation, they tend to manifest higher blood pressure and greater increases in heart rate
and in the level of epinephrine in their blood than Type B people. Some researchers
believe that this greater physiological reactivity under stress — sometimes called hot
reactivity — is the key to the link between the Type A pattern and heart disease.

166- What is the best title for the passage?
1) Better to Be Type A than Type B 2) Work: Greater Health Risks
3) Heart Disease: Reasons 4) The Type A Behavior Pattern
167- The author suggests that type B people -----------—--- ’
1) are generally as calm as other personality styles
2) are more easygoing than type A people
3) tend to react appropriately when they face stress
4) often have lower blood pressure than type A people
168- Why does the author refer to a study in paragraph 2?
1) To mention an exception 2) To set a condition
3) To support an earlier statement 4) To introduce another reason
169- Which of the following is defined in the passage?
1) hot reactivity 2) physiological reaction
3) epinephrine 4) occupation
170- The passage is most probably part of a(n) ------------—-- .
1) economist's speech 2) scientific paper
3) news report 4) trade journal
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